Adda

24

DSSSB
Jail Warder

Previous Year Paper
15 Jun, 2024 Shift 3

GET IT ON
Google Play


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

ﬁ' est Prlme

ALL EXAMS,
ONE SUBSCRIPTION |

70,000+ Personalised Unlimited
Mock Tests Report Card Re-Attempt
600+ Previous Year 500%
Exam Covered Papers Refund

ATTEMPT FREE MOCK NOW


https://applink.adda247.com/d/5zsmwiLHz7

Adda

24

GOVT. OF NCT OF DELHI

e e e www.dsssb.delhigovt.nic.in

ne
me

15/06/2024
4:30 PM - 6:30 PM
Warder Reserved for male Only

GET IT ON

Delhi Subordinate Services Selection Board
FC-18, Institutional Area, Karkardooma, Delhi - 110092,

Google Play

“the hundred's and the ten's digits within each number are interchanged, which of the following will be the unit's
1 highest number thus formed?
1 952

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680849370

6306803326992
6306803326993
6306803326990
6306803326991

»w has a word in which the letters are jumbled up. Rearrange the letters in capitals and write the correct version

2 ROBED during their free period.

JRED

BRO

DRO

EBD
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680835868

6306803274242
6306803274245
6306803274244
6306803274243
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sans A is the brother of B.
qans A is the mother of B.
:ans A is the daughter of B.

le of family is P# Q S R * S, who is the father among them?

Question ID : 630680835883

Option 11D : 6306803274304
Option 2 ID : 6306803274305
Option 3 ID : 6306803274303
Option 4 ID : 6306803274302

n that is related to the third word in the same way as the second word is related to the first word.
og:?

PPY
re
ten
il

Question ID : 630680849402

Option 1 1D : 6306803327120
Option 21D : 6306803327121
Option 31D : 6306803327118
Option 41D : 6306803327119

:r-pair in which the two numbers are related in the same way as the two numbers of the given number-pair.

220
330
390
270

Question ID : 630680849466

Option 11D : 6306803327375
Option 2 ID : 6306803327376
Option 3 ID : 6306803327377
Option 4 ID : 6306803327374
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1ge, hi bi si means red and tasty, li bi ti means apple is red, and ti ni hi means food is tasty. Which of the following
s tasty in that code?

1 i
ibi
u li

3 ti

Question ID : 630680849365

Option 11D : 6306803326973
Option 2 ID : 6306803326970
Option 3 1D : 6306803326972
Option 4 ID : 6306803326971

code language, if TRICK is coded as 56, then what will TREAT be coded as?

Question ID : 630680849362

Option 1 1D : 6306803326959
Option 2 ID : 6306803326961
Option 3 ID : 6306803326960
Option 4 1D : 6306803326958

ie following numbers will replace the question mark (?) in the given series?
79, 83,7

Question ID : 630680849445

Option 11D : 6306803327293
Option 2 ID : 6306803327291
Option 31D : 6306803327292
Option 4 ID : 6306803327290
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mbers are deleted in the series which will be the 5th element from the right end?
61298432647832465

Question ID :
Option 11D :
Option 21D :
Option31D:
Option 41D :

630680849379

6306803327029
6306803327026
6306803327028
6306803327027

tiplication’, Y denotes “addition*. Z denotes *division’, and W denotes ‘subtraction’, then what will be the value of
ation?
8Z23=7

Option 1 ID
Option 2 ID
Option 31D

Question ID :

630680835948

1 6306803274565
1 6306803274562
1 6306803274564
Option 41D :

6306803274563

the hundred's and the unit's digit within each number are interchanged, which of the following will be the ten's digit
»st number thus formed?
1941

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

: 630680849369

: 6306803326986
1 6306803326989
1 6306803326988
: 6306803326987
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1that is related to the third number in the same way as the second number is related to the first number.
37568421 :?

5876
8576
18657
5867

Question ID : 630680835971

Option 11D : 6306803274657
Option 2 ID : 6306803274655
Option 3 ID : 6306803274654
Option 4 1D : 6306803274656

m that is related to the third word in the same way as the second word is related to the first word.
shoe : ?

lish
litewash
ster

ay

Question ID : 630680849403

Option 11D : 6306803327124
Option 2 ID : 6306803327123
Option 3 ID : 6306803327122
Option 4 ID : 6306803327125

»* means ‘P is the father of Q".
1” means ‘P is the brother of Q.
’” means ‘P is the husband of Q’.

" means ‘P is the son of Q’.

\ related to D in the expression ‘A+B - C x D"?
1

her

sband

other

Question ID : 630680849382

Option 1 1D : 6306803327039
Option 2 ID : 6306803327041
Option 3 ID : 6306803327040
Option 4 ID : 6306803327038
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ie following numbers will replace the question mark (?) in the given series?
104, 7

>
8

§

Question ID : 630680849447

Option 11D : 6306803327299
Option 2 ID : 6306803327300
Option 31D : 6306803327301
Option 4 ID : 6306803327298

: option that has the same relation as the number-pair below.

18
L2 70
4:121
81

Question ID : 630680835981

Option 11D : 6306803274696
Option 2 ID : 6306803274697
Option 31D : 6306803274695
Option 4 ID : 6306803274694

 that is related to the third word in the same way as the second word is related to the first word.
linggit : 7

na
ilaysia
stralia

nee

Question ID : 630680849407

Option 11D : 6306803327141
Option 2 ID : 6306803327139
Option 31D : 6306803327140
Option 4 ID : 6306803327138
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ch number are arranged in ascending order, which of the following will be the ten's digit of the least number thus

8 684

Question ID : 630680849439

Option 11D : 6306803327268
Option 2 ID : 6306803327269
Option 31D : 6306803327267
Option 4 ID : 6306803327266

each number are arranged in ascending order, how many prime numbers will be thus formed?
63 45

Question ID : 630680849441

Option 1 ID : 6306803327275
Option 2 ID : 6306803327277
Option 31D : 6306803327276
Option 4 ID : 6306803327274

1that is related to the third number in the same way as the second number is related to the first number.
3:7
12

2

12

33

Question ID : 630680835974

Option 11D : 6306803274669
Option 2 ID : 6306803274666
Option 31D : 6306803274668
Option 4 ID : 6306803274667

telligence and Reasoning Ability 2
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related to the third letter cluster in the same way as the second letter cluster is related to the first letter cluster.
M:?

72020

Question ID : 630680849401

Option 11D : 6306803327116
Option 2 ID : 6306803327115
Option 31D : 6306803327114
Option 4 ID : 6306803327117

[ohit, Nayan, Sameer, and Vijay play the piano on five different days, starting on Tuesday and ending on Saturday.
iano immediately after Sameer. Only two persons play the piano between Ajay and Sameer. Vijay plays the piano
iately before Mohit. Who plays the piano on Saturday?

ty
neer
yan

hit

Question ID : 630680849349

Option 11D : 6306803326908
Option 2 ID : 6306803326906
Option 3 1D : 6306803326907
Option 4 ID : 6306803326909

1e following terms will replace the question mark (?) in the given series?
FM7, ENO, ?

12
11
11
12

Question ID : 630680849427

Option 11D : 6306803327221
Option 2 ID : 6306803327219
Option 3 ID : 6306803327220
Option 4 ID : 6306803327218
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building, building is called window. window is called floor. floor is called door, where will a person stand on?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680849368

6306803326985
6306803326982
6306803326983
6306803326984

m amongst the four alternatives, which when placed in the blank space of the figure would complete the pattern.

N

N

N

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680849430

6306803327231
6306803327230
6306803327232
6306803327233
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1e following terms will replace the question mark (?) in the given series?
D23, G20, ?

5
6

Question ID : 630680849428

Option 1 1D : 6306803327225
Option 2 ID : 6306803327223
Option 3 ID : 6306803327222
Option 4 ID : 6306803327224

h. Jignesh, Mahesh, Tarun and Umang are sitting on a bench facing the north but not necessarily in the same order.
mmediate left of Tignesh. Mahesh sits to the immediate right of Umang. JTignesh and Tarun sit adjacent to each
3 not sit on the left most end. Who sits on the left most end?

rish
un
hesh
nesh

Question ID : 630680849344

Option 11D : 6306803326887
Option 2 ID : 6306803326888
Option 3 ID : 6306803326889
Option 4 1D : 6306803326886

s have been given. out of which three are alike in some manner and one is different. Select the odd letter-cluster.

Question ID : 630680849417

Option 11D : 6306803327179
Option 2 ID : 6306803327181
Option 31D : 6306803327178
Option 4 ID : 6306803327180



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

have been given, out of which three are alike in some manner and one is different. Select the odd word pair.

bbler : Shoes
mber : Wrench

‘penter : Hammer

=f : Knife

Question ID : 630680849414

Option 11D : 6306803327169
Option 2 ID : 6306803327166
Option 31D : 6306803327167
Option 4 ID : 6306803327168

re given followed by two conclusions numbered I and II. Assuming the statements to be true, even if they seem to
h commonly known facts, decide which of the conclusions logically follow(s) from the statements.
lub is a Pub.

ub is a bar.
club is a bar.
' bar is a Pub.

th conclusions I and II follow
ither conclusion I nor II follows

ly conclusion I follows

ly conclusion IT follows

Question ID : 630680849391

Option 11D : 6306803327076
Option 2 ID : 6306803327077
Option 3 ID : 6306803327074
Option 4 ID : 6306803327075

., J.N. and R live in a five-storey building. The ground floor is numbered 1, the floor just above it is numbered 2,
topmost floor which is numbered 5. Only two people live between F and B. R does not live on the second floor.
lives between N and T. N lives above B. J lives below B. Who lives on the fourth floor?

Question ID : 630680849356

Option 11D : 6306803326934
Option 2 ID : 6306803326937
Option 3 1D : 6306803326935
Option 4 1D : 6306803326936
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live on a five-floor building, each floor having only one flat. The bottommost floor is numbered as | and the floor
e it is numbered as 2 and so on. X lives just below Y. W, U and V live on consecutive floors in the same order. No
. Who lives just below X?

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

630680849355

6306803326933
6306803326930
6306803326931
6306803326932

he figure which is different from the rest.

| A | |

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680835942

6306803274539
6306803274541
6306803274538
6306803274540
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1e following letters will replace the question mark (7) in the given series?
N, ?

Question ID : 630680849423

Option 1 ID : 6306803327204
Option 2 ID : 6306803327203
Option 31D : 6306803327205
Option 4 ID : 6306803327202

have been given, out of which three are alike in some manner and one is different. Select the odd word pair.
stop : Desktop

gar : Salt

<& : Pepsi

droid : IOS

Question ID : 630680849415

Option 1 ID : 6306803327172
Option 2 ID : 6306803327171
Option 31D : 6306803327170
Option 4 ID : 6306803327173

% N, P, and R are sitting around a circular table facing toward the center. C sits to the immediate right of A. N sits
f F. N sits to the immediate right of P. Who sits to the immediate left of P?

Question ID : 630680849343

Option 11D : 6306803326884
Option 2 ID : 6306803326883
Option 31D : 6306803326885
Option 4 ID : 6306803326882
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Q. Wand Y are sitting around a circular table facing away from the center. C sits to the immediate left of A. Q sits
‘ight of W. W does not sit adjacent to A. Who sits to the immediate left of Y?

Question ID : 630680849341

Option 11D : 6306803326877
Option 2 ID : 6306803326874
Option 31D : 6306803326876
Option 4 1D : 6306803326875

re given followed by two conclusions numbered I and IT. Assuming the statements to be true, even if they seem to
h commonly known facts, decide which of the conclusions logically follow(s) from the statements.

ats are dogs.

logs are toys.

1e cats are toys.

me toys are cats.
th conclusions I and II follow
ither conclusion I nor II follows

ly conclusion IT follows

ly conclusion I follows

Question ID : 630680849389

Option 11D : 6306803327068
Option 2 ID : 6306803327069
Option 3 ID : 6306803327067
Option 4 ID : 6306803327066

e wrong term in the given letter series.
W.ER

Question ID : 630680849422

Option 11D : 6306803327198
Option 2 ID : 6306803327199
Option 3 ID : 6306803327200
Option 4 ID : 6306803327201
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rs pairs have been given, out of which three are alike in some manner and one is different. Select the odd letter-
T EX
1 QD

): XS

[:XO
Question ID : 630680849409
Option 11D : 6306803327149
Option 2 ID : 6306803327146
Option 31D : 6306803327148
Option 4 ID : 6306803327147

vareness 1

following is not a New Year festival?

wa

ind D

>andD
ind D

Question ID : 630680849266

Option 11D : 6306803326583
Option 2 ID : 6306803326582
Option 3 ID : 6306803326585
Option 4 ID : 6306803326584

athlete will carry the Olympic torch in Paris for the 2024 Paris Olympics?
koi

ij Chopra
1a Borgohain

1av Bindra

Question ID : 630680849198

Option 11D : 6306803326313
Option 2 ID : 6306803326310
Option 31D : 6306803326312
Option 4 1D : 6306803326311
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avratri, which festival in Gujarat is celebrated for five days during
i in February?

nath Mahadev Fair
iera Dance Festival
Darbar Fair

Utsav

Question ID : 630680849263

Option 11D : 6306803326572
Option 2 ID : 6306803326571
Option 3 1D : 6306803326573
Option 4 1D : 6306803326570

following nitrogenous bases is present in DNA but not in RNA?

ine
line

ine

Question ID : 630680849305

Option 11D : 6306803326741
Option 2 ID : 6306803326740
Option 3 ID : 6306803326739
Option 4 ID : 6306803326738

old medal in the 10m air rifle event at the ISSF World Cup, 2024?
neesh Mendiratta

insh Singh Panwar
Singh

n Narang

Question ID : 630680849193

Option 11D : 6306803326291
Option 2 ID : 6306803326293
Option 3 1D : 6306803326290
Option 4 1D : 6306803326292

f literature does the Booker Prize primarily focus on?
a

iction
n

y

Question ID : 630680849251
Option 1 ID : 6306803326525
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: compounds are fats and oils composed of?
on, hydrogen, and oxygen

)n and nitrogen
n, hydrogen, and nitrogen

n, oxygen, and nitrogen

Question ID : 630680849307

Option 11D : 6306803326747
Option 2 ID : 6306803326749
Option 3 ID : 6306803326748
Option 4 ID : 6306803326746

1aximum subsidy provided to Women SHGs for the purchase of drones under
»ne Didi scheme?

»f the drone cost or a maximum of Rs. 10 lakh
of the drone cost or a maximum of Rs. 8 lakh
lakh per drone

»f the drone cost

Question ID : 630680849218

Option 11D : 6306803326392
Option 2 ID : 6306803326393
Option 3 ID : 6306803326391
Option 4 ID : 6306803326390

ial sweetener is approximately 550 times sweeter than cane sugar?
harin

lose
‘tame

ne

Question ID : 630680849316

Option 11D : 6306803326784
Option 2 ID : 6306803326782
Option 3 1D : 6306803326785
Option 4 1D : 6306803326783

y award honours creative literary writing in any of the 22 recognized Indian

pith Award
er Prize
/a Akademi Bal Sahitya Puraskar

ar Prize

Question ID : 630680849252
Nntinn 1 1IN - A2ANARNIARIR
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iment agency plans to collaborate with ISRO for deploying V-SAT stations in

try of Education
try of Home Affairs
try of Rural Development

stry of Tribal Affairs

Question ID : 630680849223
Option 11D : 6306803326412
Option 2 ID : 6306803326410
Option 31D : 6306803326411
Option 4 ID : 6306803326413
e in Maharashtra has been designated as India’s first international Dark Sky
lambore Tiger Reserve
»a Andhari Tiger Reserve
h Tiger Reserve
pur Tiger Reserve
Question ID : 630680849202
Option 11D : 6306803326327
Option 2 ID : 6306803326328
Option 31D : 6306803326329
Option 4 ID : 6306803326326
f protein causes coagulation in milk during the cheese-making process?
in
n
in
umin
Question ID : 630680849308
Option 1 ID : 6306803326750
Option 2 ID : 6306803326753
Option 3 1D : 6306803326751
Option 4 ID : 6306803326752

e pilot deployment of V-SAT (very small aperture terminal) stations take place?
| areas

itain Border areas
| villages

:al regions

Question ID : 630680834964
Nntinn 1 1IN - A2NARN227NATN
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nal group does the Jammu and Kashmir Local Bodies Laws (Amendment) Bill,
yrovide reservation for in panchayats and Municipal Bodies of Jammu and

- Backward Classes (OBCs)
in Indians

ih community

Question ID : 630680849214

Option 11D : 6306803326375
Option 2 ID : 6306803326374
Option 31D : 6306803326377
Option 4 ID : 6306803326376

system supports the commodification of nature?
list values

alist values
ynmentalist values

ous values

Question ID : 630680849318

Option 11D : 6306803326790
Option 2 ID : 6306803326793
Option 3 1D : 6306803326792
Option 4 ID : 6306803326791

Article 351 of the Constitution, what is the primary source for enriching the
je?

krit

Question ID : 630680849257

Option 11D : 6306803326549
Option 2 ID : 6306803326546
Option 3 ID : 6306803326548
Option 4 1D : 6306803326547

d the Swachhata Green Leaf Rating (SGLR) initiative?

tment of Environment and Forests (MoEF)
try of Environment, Forest and Climate Change
rtment of Drinking Water & Sanitation (DDWS), Ministry of Jal Shakti

try of Sustainability and the Environment

[ Question ID : 630680849206 ]
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econd official language of Uttarakhand?
1oni

vali

krit

Question ID : 630680849261

Option 11D : 6306803326563
Option 2 ID : 6306803326562
Option 3 1D : 6306803326565
Option 4 ID : 6306803326564

omposition of eukaryotic ribosomes 80S?
nd 20S subunits

ind 40S subunits
nd 10S subunits
nd 30S subunits

Question ID : 630680849312

Option 11D : 6306803326767
Option 2 ID : 6306803326769
Option 31D : 6306803326768
Option 4 ID : 6306803326766

vareness 2

s famous for its badland topography called the Chambal ravines?
ak

1bal

hara

Question ID : 630680849273

Option 11D : 6306803326611
Option 2 1D : 6306803326612
Option 3 1D : 6306803326610
Option 4 1D : 6306803326613

ms are indicative of the youthful stage of rivers in the Himalayas and
iountains?

es, V-shaped valleys, rapids
ries, barrier islands, sandbars
w lakes, levees, distributaries

5, floodplains, meanders
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ticle 1 describe India in relation to its states?
sonfederation of states

‘ederation of states
Union of States

alliance of states

Question ID : 630680849302
Option 11D : 6306803326729
Option 2 ID : 6306803326727
Option 31D : 6306803326726
Option 4 ID : 6306803326728
cuted by Aurangzeb in 1675, leading to the rise of the Sikh Guru?
Tegh Bahadur
Gobind Singh
Nanak
Arjan Dev
Question ID : 630680834995
Option 11D : 6306803270796
Option 2 ID : 6306803270797
Option 31D : 6306803270794
Option 4 ID : 6306803270795
| established the city of Fatehabad and a hospital called Dar-ul-Shifa?
Shah Tughlaq
[din Khilji
mmad-bin-Tughlaq
dar Lodhi
Question ID : 630680849244
Option 1 ID : 6306803326496
Option 2 ID : 6306803326494
Option 3 ID : 6306803326497
Option 4 ID : 6306803326495

ployment defined by the National Sample Survey Organisation (NSS0)?
ing work but not finding it

ity to find a job
of education

gagement from the labor force

Question ID : 630680834974
Option 11D : 6306803270710
Option 2 1D : 6306803270712
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al system does India primarily use for its general elections?
1 Member Proportional (MMP)

Past the Post (FPTP)
»-member district plurality voting (SMDP)
3 Transferable Vote (STV)

Question ID : 630680849295

Option 11D : 6306803326700
Option 2 ID : 6306803326699
Option 3 1D : 6306803326701
Option 4 ID : 6306803326698

ircumstances can citizenship of India be lost?

Iding public office in another country
thin India
nunciation of citizenship

siding in India for an extended period

Question ID : 630680835050

Option 11D : 6306803271016
Option 2 ID : 6306803271014
Option 31D : 6306803271015
Option 4 ID : 6306803271017

ro-monthly seasons does the traditional Indian calendar divide a year into?

Question ID : 630680849278

Option 1 1D : 6306803326630
Option 2 ID : 6306803326633
Option 3 ID : 6306803326631
Option 4 ID : 6306803326632

f India receives inadequate rainfall, below 50 cm annually?
1a

arn Ghats
kh

ur

Question ID : 630680849277
Option 11D : 6306803326627
Option 2 ID : 6306803326629
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‘er are the stamens attached to the perianth?

Question ID : 630680849315

Option 11D : 6306803326778
Option 2 ID : 6306803326781
Option 3 1D : 6306803326780
Option 4 ID : 6306803326779

1arked the beginning of the Civil Disobedience Movement in 1930?
Round Table Conference

a Pact
i March or Salt Satyagraha

ndia Movement

Question ID : 630680849239

Option 11D : 6306803326474
Option 2 ID : 6306803326477
Option 31D : 6306803326476
Option 4 ID : 6306803326475

ormal term of office for a Governor?

Question ID : 630680849294

Option 1 1D : 6306803326695
Option 2 ID : 6306803326696
Option 3 ID : 6306803326697
Option 4 ID : 6306803326694

ction of the Supreme Court deals with the enforcement of Fundamental

1al jurisdiction
ory jurisdiction
Jrisdiction

llate jurisdiction

Question ID : 630680835059
Option 1 ID : 6306803271050
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te investment demand (1) represented?
r0us consumption

stion expenditure by households

ser unit change in income

ous investment in a given year

Question ID : 630680834972

Option 11D : 6306803270702
Option 2 ID : 6306803270705
Option 3 ID : 6306803270703
Option 4 1D : 6306803270704

an citizenship be acquired by registration?

ting a person of Indian origin residing in India for 7 years
arrying an Indian citizen and residing in India for 2 years
siding in India for 12 years continuously

ing born in India to Indian parents

Question ID : 630680849291

Option 11D : 6306803326684
Option 2 ID : 6306803326685
Option 31D : 6306803326683
Option 4 ID : 6306803326682

»nent is NOT included in calculating Gross fiscal deficit?
wing from RBI

orrowing at home
y shares

wing from abroad

Question ID : 630680849229

Option 11D : 6306803326436
Option 2 ID : 6306803326434
Option 3 ID : 6306803326435
Option 4 ID : 6306803326437

following states has the highest Muslim population percentage as per 2011

Nadu
]
nadweep

Bengal
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us group has its major concentration in Lakshadweep?
ims

nists

tians

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680835042

6306803270983
6306803270985
6306803270982
6306803270984

leaders was known for their militant nationalism during the Extremist Phase of
itional Movement?

)indo Ghosh, Bipin Chandra Pal, and Lala Lajpat Rai

tma Gandhi, Jawaharlal Nehru, and Sardar Patel

Lajpat Rai, Bal Gangadhar Tilak, and Bipin Chandra Pal

as Chandra Bose, Bhagat Singh, and Chandrashekhar Azad

Question ID
Option 1 ID
Option 21D :
Option 31D :
Option 41D :

: 630680849240
1 6306803326478

6306803326480
6306803326479
6306803326481

:al and Numerical Ability 1

shows the percent profit earned by two companies producing mechanical equipment from the year 2017 to 2022.
‘ed Z16.000 more than company B in the year 2020. The profit earned by B was Z 6200 more than A. Find the ratio
he companies A and B in the year 2020.

—=-Company A —=—Company B

0 ]

25
23
51
51

Question ID : 630680849603
Option 11D : 6306803327660
Obtion 2 ID : 6306803327661
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Gd v vosl ?
1024 62

Question ID
Option 1 ID
Option 2 ID

Option 31D :

Option 4 ID

1 630680849636

1 6306803327793
1 6306803327791
6306803327792
: 6306803327790

with liquid, 5 parts of which are water and 7 parts lemon juice. How much of the mixture must be drawn off and
er so that the mixture may be half water and half lemon juice?

Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :

630680849579

6306803327563
6306803327564
6306803327565
6306803327562

interest on ¥ 50,000 at 12% per annum is ¥ 12720, compounded annually. The period (in years) is:

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680849592

6306803327615
6306803327617
6306803327614
6306803327616
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hows the marks of students in different subjects. Who scored the maximum marks in Science, Maths and English?

Subject (Max. Marks)
laths Hindi Science Geography History English
150) (130) (120) (100) (120) (120)
110 85 9% 60 70 94
100 120 80 88 80 70
90 &0 70 70 %0 70
110 &5 9% 80 &0 s
80 84 90 95 50
70 75 65 85 40 86
110 35 50 77 80 93
un
shan
1an
al

Question ID : 630680849609

Option 11D : 6306803327684
Option 2 ID : 6306803327683
Option 3 1D : 6306803327682
Option 4 ID : 6306803327685

ow shows number of candidates appeared (in lakh) in different vears and line graph shows percentage of candidate

ination over the years. What was the ratio between number of candidates appeared for exam ‘X" in 2020 to the number

» did not qualified in 20187
98
85
78
64
200 200 L 021
vear
o~
_W
ms 0 2 wm
Vear

Question ID : 630680849604

Option 11D : 6306803327662
Option 2 ID : 6306803327663
Option 31D : 6306803327665
Option 4 ID : 6306803327664
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sum of the cubes of the first 12 odd natural numbers.
328

158

fod

178
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option 41D :

630680834800

6306803270014
6306803270015
6306803270016
6306803270017

low shows the percentage distribution of total number of male faculties in five different schools. Total male

ools together = 7500

nale faculties in schools S and T both is 15% more than male faculties . The number of female faculties in school U
the number of male faculties. The total number of female faculties in school S, T and U is

e Faculties in %

5

4

12

10
Question ID : 630680849599
Option 11D : 6306803327642
Option 2 ID : 6306803327645
Option 3 ID : 6306803327643
Option 4 ID : 6306803327644

2z 16 hours per day can reap a field in 16 days, in how many days, will 48 men reap the field working 8 hours per

days

days

days

days
Question ID : 630680849620
Option 11D : 6306803327728
Option 2 ID : 6306803327727
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he sum of the squares of the first 22 even natural numbers?

20

L8O

60

80
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680834806

6306803270040
6306803270038
6306803270039
6306803270041

mpound interest on ¥ 5600 for 2 years at rate of interest 6% per annum, compounded annually?

94.48

84.56

92.16

8§8.24
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680849591

6306803327613
6306803327610
6306803327612
6306803327611

s listed at T 1500 is sold to a retailer at successive discounts of 18% and 15% by the wholesaler.
rice of the dining table for retailer is :

045.50

256.70

156.60

384.10
Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 41D :

630680849664

6306803327902
6306803327904
6306803327903
6306803327905
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it of 26 students is 68 kg. If one new student is added. the average weight becomes 70 kg. What is the weight of the
'kg

Question ID : 630680849575

Option 11D : 6306803327547
Option 2 ID : 6306803327549
Option 3 1D : 6306803327546
Option 4 ID : 6306803327548

5 km/hr for 3 hours and runs at 20 km/hr for next 7 hours. What is the average speed of Varun?
5 km/hr
5 km/hr
5 km/hr
5 km/hr

Question ID : 630680849574

Option 1 1D : 6306803327543
Option 2 ID : 6306803327544
Option 3 ID : 6306803327545
Option 4 ID : 6306803327542

rrence between simple interest and compound interest on 15000 for one year at 12% interest per annum
1 interest, interest is compounded half-yearly?

¥
¥

Question ID : 630680834774

Option 11D : 6306803269913
Option 2 ID : 6306803269911
Option 3 1D : 6306803269910
Option 4 ID : 6306803269912
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g sum of the first 50 terms of the following AP: 375 + 345 + 315+ 285+ ........
400
600
000
200

Question ID : 630680849616

Option 11D : 6306803327712
Option 2 ID : 6306803327713
Option 3 ID : 6306803327710
Option 4 ID : 6306803327711

ence between two twin prime numbers is always equal to

mber itself

Question ID : 630680849612

Option 11D : 6306803327694
Option 2 ID : 6306803327697
Option 3 1D : 6306803327696
Option 4 ID : 6306803327695

» shops. Shop A was offering a flat 30% discount on an item. Shop B was offering two successive discounts of 20%
me item. From which shop should Simran buy the item from?

th are the same.
opA
pB

ta insufficient

Question ID : 630680849661

Option 11D : 6306803327892
Option 2 ID : 6306803327890
Option 3 1D : 6306803327891
Option 4 ID : 6306803327893
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24+6) x4

Question ID : 630680849629

Option 11D : 6306803327762
Option 2 ID : 6306803327765
Option 3 ID : 6306803327764
Option 4 ID : 6306803327763

014 =034+17+45%2
15

7

32

Question ID : 630680849622

Option 11D : 6306803327734
Option 2 ID : 6306803327737
Option 3 ID : 6306803327736
Option 4 ID : 6306803327735

:al and Numerical Ability 2

% of a work in 15 days, whereas Bob can do 30% of the same work in 18 days. Both works together for 12 days.
tes the remaining work alone in 12 days. Ashok, Bob and Catherine together will complete 25% of the same work

ays
1y

lays
ays
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veen two candidates Raju and Sakshi. Raju got 55% of the total valid votes. If the total number of valid votes was
of valid votes that Sakshi got, was:

00
10
10
)0

Question ID : 630680849637

Option 11D : 6306803327795
Option 2 ID : 6306803327797
Option 31D : 6306803327796
Option 4 ID : 6306803327794

eed of 15 kimv/hr and covers a certain distance in an hour while riding his blue cycle. When he rides his green cycle
of 12 km/hr In what time will he cover the same distance?

minutes
minutes
minutes

minutes

Question ID : 630680849688

Option 11D : 6306803328001
Option 2 ID : 6306803327998
Option 3 ID : 6306803328000
Option 4 ID : 6306803327999

nplete a piece of work in 5 days and 8 days respectively. If A and B work on alternative days, how many
to complete the work (A starts the work)?

Question ID : 630680834884

Option 11D : 6306803270353
Option 2 ID : 6306803270352
Option 3 ID : 6306803270350
Option 4 ID : 6306803270351
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s as heavy as water and Aluminium is 6 times as heavy as water. In what ratio should these metals be
ely so that the mixture may be 12 times as heavy as water?

2

2

|
Question ID :
Option 11D
Option 2 ID
Option 3 ID
Option 4 ID

630680834876

1 6306803270321
1 6306803270320
1 6306803270318
: 6306803270319

total simple interest of ¥ 1376.70 at the rate of interest of 5% per annum in 6 vears. What is the sum?

520

SBO

890

210
Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

: 630680849584

: 6306803327582
1 6306803327583
1 6306803327584
: 6306803327585

at 72 kimph crosses another train travelling in the same direction at 54 kmph in 48 seconds. What is the combined

trains?

ym

0m

I m

ym
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680849697

6306803328035
6306803328036
6306803328037
6306803328034

‘e at a loss of 25%. If he had sold it for ¥ 180 more, he would have made a profit of 20%. The cost price of the table

00
00
00
00
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iold a flower pot for T 3500. If the cost price of the flower pot is Z 2800, find the profit percent.

°
"o
Yo
o
Question ID : 630680849651
Option 11D : 6306803327850
Option 2 ID : 6306803327851
Option 31D : 6306803327852
Option 4 ID : 6306803327853
wticle is successively increased by 25%,40% and 45% respectively. What is the net percentage increase?
3.75%
%
. 75%
o
Question ID : 630680849649
Option 1 1D : 6306803327845
Option 2 ID : 6306803327842
Option 3 1D : 6306803327843
Option 4 ID : 6306803327844
etween two candidates, Raju got 55% of the total valid votes. If the total number of valid votes was
er of valid votes that Sakshi. the other candidate, got was:
00
10
10
)0
Question ID : 630680834828
Option 11D : 6306803270127
Option 2 ID : 6306803270129
Option 31D : 6306803270128
Option 4 ID : 6306803270126

by selling a pen-drive for 480 is equal to% of the profit obtained by selling the same pen-drive for
he cost price of the pen-drive?

k5
J
'8

o
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noney raised at a fundraiser is directly proportional to the number of people in attendance. If 15 people
Z13500. then how much money will be raised if 120 people are in attendance?

07.000
06.000
08,000
09,000

Question ID : 630680834882

Option 1 1D : 6306803270343
Option 2 ID : 6306803270342
Option 3 ID : 6306803270344
Option 4 1D : 6306803270345

unning simultaneously on a circular track of length 180 meters from the same point with the speeds 4m/s, 6m/s and
.Aand C are inning in anti-clockwise direction and B is running in a clockwise direction. After how much time
hree will meet for the first time anywhere on the track?

seconds
) seconds
I seconds

seconds

Question ID : 630680849691

Option 11D : 6306803328010
Option 2 ID : 6306803328013
Option 3 1D : 6306803328012
Option 4 1D : 6306803328011

er has recorded a row speed of 18 km/h. The time taken by him to row a certain distance upstream is 5 times the
ne distance downstream. What is the rate of this stream?

m/hr
km/hr
km/hr
m/hr

Question ID : 630680849695

Option 11D : 6306803328027
Option 2 ID : 6306803328029
Option 3 ID : 6306803328028
Option 4 ID : 6306803328026
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ney at simple interest amounts to ¥ 600 in 4 years and to 700 in 5 years. The sum is:

00

00

00

00
Question ID : 630680849580
Option 11D : 6306803327567
Option 2 ID : 6306803327566
Option 3 ID : 6306803327569
Option 4 ID : 6306803327568

mean proportional of 8 and 9.

2

2
Question ID : 630680849669
Option 11D : 6306803327925
Option 2 ID : 6306803327924
Option 3 ID : 6306803327922
Option 4 ID : 6306803327923

1creases of 30% each is (approximately) by what percent more than the two successive decrease of 30% each?

o

Yo

0

)
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680849650

6306803327848
6306803327847
6306803327846
6306803327849

average of Rs. 2 3200 per week during a 40 hours week. He increases his rates in final week of the month by 75%.
ion he earns in that weel, if he puts in 50 hours during that final week?

‘000
000
500
500
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first and the second-class fares between two stations is 12 : 5 and the ratio of the numbers of passengers
t and second-classes is 2 : 39. If 321900 is collected as total fare. what is the amount collected from first
L4

\

00

00

.00

Question ID : 630680834875

Option 11D : 6306803270316
Option 2 ID : 6306803270315
Option 31D : 6306803270317
Option 4 ID : 6306803270314

glish Language and Comprehension 1

arm for a person who lives in seclusion?

Question ID : 630680852728

Option 11D : 6306803339885
Option 2 ID : 6306803339886
Option 3 1D : 6306803339884
Option 4 1D : 6306803339887

orrect preposition to complete the sentence:
‘e hidden the vase.

gh

Question ID : 630680852686

Option 11D : 6306803339718
Option 2 ID : 6306803339717
Option 3 1D : 6306803339716
Option 4 ID : 6306803339719
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arm for a person who believes that war and violence are unjustifiable?
ist

mist

ist

nt

Question ID : 630680852725

Option 11D : 6306803339874
Option 2 ID : 6306803339875
Option 31D : 6306803339872
Option 4 ID : 6306803339873

orrect article to complete the sentence:
rears red dress to parties.

Question ID : 630680852675

Option 11D : 6306803339675
Option 2 ID : 6306803339673
Option 3 1D : 6306803339674
Option 4 1D : 6306803339672

entence with the appropriate verb form:
finished his homework

id finished his homework already.
as finished his homework already.

e finished his homework already.

Question ID : 630680852708

Option 11D : 6306803339807
Option 2 ID : 6306803339806
Option 31D : 6306803339805
Option 4 ID : 6306803339804

orrect form of the adjective:
____person | know.

it

Question ID : 630680852698
Nntinn 1 1IN - ARNARN2ROTAA
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ntence with the correct use of the adverb:

yeaks so quietly that no one can hear him.
ieaks so quiet than no one can hear him.
ieaks so quiet that no one can hear him.

ieaks so quietly than no one can hear him.

Question ID : 630680852701
Option 1 ID : 6306803339778
Option 2 ID : 6306803339779
Option 31D : 6306803339777
Option 4 ID : 6306803339776
st appropriate word for the given phrase.
un for Bees.
e
bl
m
Question ID : 630680835173
Option 11D : 6306803271507
Option 2 ID : 6306803271509
Option 3 ID : 6306803271508
Option 4 ID : 6306803271506
:s given below are all part of a paragraph but do not necessarily fall in the order
in. The first and the last sentences of the paragraph are given. Choose the
rranges these sentences to form a meaningful paragraph.
tiger had passed the prime of his life, he had lost none of his majesty.
: with the confidence of one who knew that he was still a king, although his
2s rippled beneath the golden yellow of his coat, and he walked through the
ligh, that sometimes showed above the sea of grass.
'ere fewer. His great head pushed through the foliage, and it was only his tail,
ing for water, the water of a large marsh.
Question ID : 630680835172
Option 1 ID : 6306803271505
Option 2 ID : 6306803271504
Option 3 ID : 6306803271503
Option 4 ID : 6306803271502
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orrect indefinite articles to complete the sentence:
up loaf of bread from the store?

Question ID : 630680852676
Option 11D : 6306803339678
Option 2 ID : 6306803339676
Option 31D : 6306803339677
Option 4 ID : 6306803339679
r the weather."
e idiom "Under the weather" mean?
» physically ill or indisposed
3| energetic
on a vacation
joy sunny weather
Question ID : 630680852737
Option 1 1D : 6306803339920
Option 2 ID : 6306803339922
Option 31D : 6306803339923
Option 4 ID : 6306803339921
nk with the most appropriate option.
rare in Mussoorie common enough down in the valley.
Jh
Question ID : 630680835137
Option 11D : 6306803271365
Option 2 ID : 6306803271362
Option 31D : 6306803271363
Option 4 ID : 6306803271364

orrect adverb to complete the sentence:
____than his colleagues.
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entence with the correct usage of conjunction:
10ney; she couldn't buy the dress.

ad no money; however, she couldn't buy the dress.
ad no money, either she could buy the dress.
ad no money; consequently she couldn't buy the dress.

1ad no money, therefore she couldn't buy the dress.

Question ID : 630680852705

Option 11D : 6306803339792
Option 2 ID : 6306803339793
Option 3 1D : 6306803339795
Option 4 1D : 6306803339794

entence where "although" is correctly used.

ugh it rained heavily, so we still went for a walk.
ed heavily although, we still went for a walk.
ugh it rained heavily, but we still went for a walk.

ugh it rained heavily, we still went for a walk.

Question ID : 630680852706

Option 1 1D : 6306803339799
Option 2 ID : 6306803339798
Option 3 ID : 6306803339796
Option 4 1D : 6306803339797

st appropriate word for the given phrase.
un for Directors.

rrence
N

B!

Question ID : 630680835177

Option 11D : 6306803271522
Option 2 ID : 6306803271524
Option 3 1D : 6306803271523
Option 4 ID : 6306803271525

orrect indefinite articles to complete the sentence:
uy house in the countryside.

[ Question ID : 630680852677 ]
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‘ollowing sentences to form a coherent paragraph about the dynamics of the

factors such as economic indicators, geopolitical events, and investor

50 influence stock prices.

ding market trends and conducting thorough research are essential for making
astment decisions.

market is characterized by volatility, with prices fluctuating based on supply
dynamics.

ly, various financial instruments such as stocks, bonds, and derivatives are

ick exchanges.

3 A
\,B
3,D
A, D
Question ID : 630680852713
Option 11D : 6306803339826
Option 2 ID : 6306803339824
Option 31D : 6306803339827
Option 4 ID : 6306803339825
1to become astronaut when she grew up.
orrect indefinite article from the options given below:
Question ID : 630680852697
Option 11D : 6306803339763
Option 2 ID : 6306803339761
Option 31D : 6306803339762
Option 4 ID : 6306803339760
entence with the correct usage of indefinite article
aw unicorn.
;aw a‘unicorn.
aw some unicorn.
aw the unicorn.
Question ID : 630680852695
Option 11D : 6306803339753
Option 2 ID : 6306803339752
Option 3 ID : 6306803339755
Option 4 ID : 6306803339754

glish Language and Comprehension 2
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an option, select the correct proverb which matches in meaning to the sentence

Il reliable medicines, he is now visiting quacks to get a cure for his baldness.
can't beat them, join them.

wning man will clutch at a straw.
play with fire, you'll get burned.

buy cheaply, you pay dearly.

Question ID : 630680835194

Option 11D : 6306803271591
Option 2 ID : 6306803271593
Option 3 ID : 6306803271592
Option 4 ID : 6306803271590

;pelled word in the sentence:
ship was uncomparable.”

mparable

iship

Question ID : 630680852765

Option 11D : 6306803340035
Option 2 ID : 6306803340034
Option 31D : 6306803340033
Option 4 ID : 6306803340032

ratched pot never boils."
e proverb "A watched pot never boils" mean?

1ce is a virtue.
seems to pass slowly when one is waiting for something to happen.
son should focus on their own affairs rather than others'.

tantly monitoring a situation can prevent problems.

Question ID : 630680852743

Option 11D : 6306803339944
Option 2 ID : 6306803339945
Option 3 ID : 6306803339947
Option 4 1D : 6306803339946

st appropriate synonym of the given word.
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1eaning of "ubiquitous” in the sentence "Smartphones have become ubiquitous
ciety"?

ant everywhere
" broken

essible

Question ID : 630680852755

Option 11D : 6306803339992
Option 2 ID : 6306803339994
Option 3 ID : 6306803339993
Option 4 ID : 6306803339995

1ym is appropriate for the sentence: "She played the of Juliet in the

Question ID : 630680852756

Option 1 1D : 6306803339999
Option 2 ID : 6306803339998
Option 31D : 6306803339997
Option 4 1D : 6306803339996

propriate homonym for the sentence: "She saw a beautiful in the garden.’

Question ID : 630680852761

Option 11D : 6306803340016
Option 2 ID : 6306803340019
Option 3 ID : 6306803340017
Option 4 1D : 6306803340018

1ym is appropriate for the sentence: "The dog wagged its _____ excitedly"?

Question ID : 630680852757
Nntinn 1 1IN - A2NARN224ANNNR



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addai24

GET IT ON

Google Play

re given, out of which only one word is spelt correctly. Choose the correctly

\TE
RATE
ARATE
GINY
Question ID : 630680835229
Option 11D : 6306803271731
Option 2 ID : 6306803271733
Option 3 ID : 6306803271730
Option 4 ID : 6306803271732
iosity killed the cat."
ne word substitution for excessive desire to know about other people's affairs?
{lesome
-erested
sitive
nt
Question ID : 630680852734
Option 11D : 6306803339910
Option 2 ID : 6306803339911
Option 31D : 6306803339909
Option 4 ID : 6306803339908
ion:
1ks in the given passage:
ge is a significant global challenge that (1) consequences for the
economies, and societies worldwide. It is caused primarily by human activities
urning of fossil fuels, deforestation, and (2) emissions from industries. The
mate change are already being felt, with rising temperatures, extreme weather
1elting ice caps. These changes (4) serious implications for biodiversity,
,and human health. To mitigate these impacts, it is crucial for governments,
ind individuals to adopt (5) sustainable practices and strengthen global
»n environmental policies.
No: 11
orrect option for Blank 2:
house's
houses
house
house
Question ID : 630680852630
Option 11D : 6306803339499
Option 2 ID : 6306803339497
Option 3 ID : 6306803339498
Ontion 4 ID : 6306803339496
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jon:

1ks in the given passage:

ge is a significant global challenge that (1) consequences for the
economies, and societies worldwide. It is caused primarily by human activities
urning of fossil fuels, deforestation, and (2) emissions from industries. The
mate change are already being felt, with rising temperatures, extreme weather
1elting ice caps. These changes (4)_____ serious implications for biodiversity,
,and human health. To mitigate these impacts, it is crucial for governments,

ind individuals to adopt (5) sustainable practices and strengthen global

»n environmental policies.

No:12
orrect option for Blank 1:

Question ID : 630680852629

Option 11D : 6306803339492
Option 2 ID : 6306803339493
Option 3 ID : 6306803339494
Option 4 ID : 6306803339495

jon:

1ks in the given passage:

ge is a significant global challenge that (1) consequences for the
economies, and societies worldwide. It is caused primarily by human activities
urning of fossil fuels, deforestation, and (2) _____ emissions from industries. The
mate change are already being felt, with rising temperatures, extreme weather
1elting ice caps. These changes (4) serious implications for biodiversity,
,and human health. To mitigate these impacts, it is crucial for governments,

ind individuals to adopt (5) sustainable practices and strengthen global

»n environmental policies.

No:13

orrect option for Blank 3:

ts

Question ID : 630680852631

Option 1 ID : 6306803339502
Option 2 ID : 6306803339501
Option 31D : 6306803339500
Option 4 ID : 6306803339503
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ion:
ks in the given passage:

ge is a significant global challenge that (1) ____ consequences for the
economies, and societies worldwide. It is caused primarily by human activities
urning of fossil fuels, deforestation, and (2) _____ emissions from industries. The
mate change are already being felt, with rising temperatures, extreme weather
1elting ice caps. These changes (4)_____ serious implications for biodiversity,
,and human health. To mitigate these impacts, it is crucial for governments,

ind individuals to adopt (5) sustainable practices and strengthen global

»n environmental policies.

No: 14

orrect option for Blank 4:

9
Question ID : 630680852632
Option 11D : 6306803339506
Option 2 ID : 6306803339504
Option 31D : 6306803339507
Option 4 ID : 6306803339505

ion:

1ks in the given passage:

ge is a significant global challenge that (1) consequences for the
economies, and societies worldwide. It is caused primarily by human activities
urning of fossil fuels, deforestation, and (2) _____ emissions from industries. The
mate change are already being felt, with rising temperatures, extreme weather
1elting ice caps. These changes (4)_____ serious implications for biodiversity,
,and human health. To mitigate these impacts, it is crucial for governments,

ind individuals to adopt (5) sustainable practices and strengthen global

»n environmental policies.

No:15
orrect option for Blank 5:

Question ID
Option 1 ID
Option 2 ID
Option 31D
Option 4 ID

1 630680852633

1 6306803339508
: 6306803339509
1 6306803339510
: 6306803339511
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jon:

sage carefully and answer the questions given below:

,a double-edged sword, ignites debates over its role as a boon or a bane in

y society. On one hand, it serves as a powerful tool for connectivity, enabling
forge relationships, share experiences, and mobilize for social causes.

2 Facebook, Twitter, and Instagram facilitate communication on a global scale,
'n geographical barriers and fostering a sense of belonging.

flip side reveals a darker narrative. Social media's addictive nature can lead to
ffects on mental health, with excessive usage linked to anxiety, depression, and
»n. Moreover, the spread of misinformation and fake news poses significant

1 societal discourse, blurring the lines between truth and falsehood.

'hether social media is a boon or a curse depends on its usage. When wielded
t can enhance connectivity and empower communities. Yet, unchecked

can sow seeds of discord and disillusionment. Thus, the true impact of social
our ability to harness its potential for the greater good while mitigating its

its.

No:16

1e examples of social media platforms mentioned in the passage?

din and Snapchat

sApp and TikTok

-est and Reddit

book, Twitter, and Instagram

Question ID : 630680852776

Option 11D : 6306803340068
Option 2 ID : 6306803340070
Option 3 1D : 6306803340071
Option 4 ID : 6306803340069
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jon:

sage carefully and answer the questions given below:

.a double-edged sword, ignites debates over its role as a boon or a bane in

y society. On one hand, it serves as a powerful tool for connectivity, enabling
forge relationships, share experiences, and mobilize for social causes.

2 Facebook, Twitter, and Instagram facilitate communication on a global scale,
'n geographical barriers and fostering a sense of belonging.

flip side reveals a darker narrative. Social media's addictive nature can lead to
ffects on mental health, with excessive usage linked to anxiety, depression, and
»n. Moreover, the spread of misinformation and fake news poses significant

1 societal discourse, blurring the lines between truth and falsehood.

'hether social media is a boon or a curse depends on its usage. When wielded
t can enhance connectivity and empower communities. Yet, unchecked

can sow seeds of discord and disillusionment. Thus, the true impact of social
our ability to harness its potential for the greater good while mitigating its

its.

No:17

1ce demonstrates the correct usage of "mitigating"?

:ompany attempted to mitigate its losses by cutting costs.
overnment's actions only exacerbated the problem instead of mitigating it.
itigated the situation by escalating the conflict.

ttempted to mitigate her fears by facing them head-on.

Question ID : 630680852779

Option 1 1D : 6306803340080
Option 2 ID : 6306803340082
Option 3 ID : 6306803340081
Option 4 ID : 6306803340083
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ion:

sage carefully and answer the questions given below:

. a double-edged sword, ignites debates over its role as a boon or a bane in

y society. On one hand, it serves as a powerful tool for connectivity, enabling
forge relationships, share experiences, and mobilize for social causes.

2 Facebook, Twitter, and Instagram facilitate communication on a global scale,
'n geographical barriers and fostering a sense of belonging.

flip side reveals a darker narrative. Social media's addictive nature can lead to
ffects on mental health, with excessive usage linked to anxiety, depression, and
»n. Moreover, the spread of misinformation and fake news poses significant

1 societal discourse, blurring the lines between truth and falsehood.

'hether social media is a boon or a curse depends on its usage. When wielded
t can enhance connectivity and empower communities. Yet, unchecked

can sow seeds of discord and disillusionment. Thus, the true impact of social
our ability to harness its potential for the greater good while mitigating its

ts.

No:18

ionym for "connectivity" as used in the passage?

ation

ion

sonnectedness

nnection

Question ID : 630680852780

Option 11D : 6306803340085
Option 2 ID : 6306803340084
Option 3 ID : 6306803340086
Option 4 ID : 6306803340087
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jon:

sage carefully and answer the questions given below:

. a double-edged sword, ignites debates over its role as a boon or a bane in

y society. On one hand, it serves as a powerful tool for connectivity, enabling
forge relationships, share experiences, and mobilize for social causes.

2 Facebook, Twitter, and Instagram facilitate communication on a global scale,
'n geographical barriers and fostering a sense of belonging.

flip side reveals a darker narrative. Social media's addictive nature can lead to
ffects on mental health, with excessive usage linked to anxiety, depression, and
»n. Moreover, the spread of misinformation and fake news poses significant

1 societal discourse, blurring the lines between truth and falsehood.

'hether social media is a boon or a curse depends on its usage. When wielded
t can enhance connectivity and empower communities. Yet, unchecked

can sow seeds of discord and disillusionment. Thus, the true impact of social
our ability to harness its potential for the greater good while mitigating its

its.

No: 19

2 passage suggest that social media affects mental health?

»moting positivity and emotional well-being
ntributing to anxiety, depression, and social isolation
eviating stress and loneliness through virtual connections

couraging face-to-face interactions and socialization

Question ID : 630680852777

Option 1 ID : 6306803340072
Option 2 ID : 6306803340074
Option 3 ID : 6306803340075
Option 4 ID : 6306803340073
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ion:
sage carefully and answer the questions given below:

,a double-edged sword, ignites debates over its role as a boon or a bane in

y society. On one hand, it serves as a powerful tool for connectivity, enabling
forge relationships, share experiences, and mobilize for social causes.

2 Facebook, Twitter, and Instagram facilitate communication on a global scale,
'n geographical barriers and fostering a sense of belonging.

flip side reveals a darker narrative. Social media's addictive nature can lead to
ffects on mental health, with excessive usage linked to anxiety, depression, and
»n. Moreover, the spread of misinformation and fake news poses significant

1 societal discourse, blurring the lines between truth and falsehood.

'hether social media is a boon or a curse depends on its usage. When wielded
t can enhance connectivity and empower communities. Yet, unchecked

can sow seeds of discord and disillusionment. Thus, the true impact of social
our ability to harness its potential for the greater good while mitigating its

its.

No: 20

ntonym of "enhance” as used in the passage?

lish

lent

wve

gthen
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680852778

6306803340076
6306803340079
6306803340078
6306803340077

T §, 39 arein i ugarg e o sfPal § aft wif merdt ad & at '
g1 ATl

TEeaquf Huf 6t avg g &/ it A & sera W 9 8, R Iy wwar g,/ Ad @
2 SUCTeH &R &

" OYeeh dcd TS IueTed I &

R o Agayef duft &l e g §

CEEE

£ & hera W ST 8, TR I Al &
Question ID :
Option 11D
Option 2 ID
Option 31D :
Option 41D :

630680850241

1 6306803330155
: 6306803330153

6306803330156
6306803330154
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A ¥, arR el & @, 39 fehed o1 g9 @ St €1 18 SAlenlfh @1 gl oref aren
, <it S |t @

I STeTE & TRIa < g1 gt §

R & 31cheT g1, fSEeh &g 7 8t

{97 ST & I o1 et &

T UE 9§ g1 1S St g1 gt ST

Question ID : 630680836451

Option 11D : 6306803276547
Option 2 ID : 6306803276549
Option 3 ID : 6306803276548
Option 4 ID : 6306803276546

a8, 9 Reeal 7 Q, 39 Rerea &1 9a9 &2 it & 71 Alepifs @1 9@l oref arer
m,EHE

q7 A T

R fqufxy smr

ERIE)

&<

Question ID : 630680850313

Option 1 1D : 6306803330426
Option 2 ID : 6306803330427
Option 3 ID : 6306803330428
Option 4 ID : 6306803330425

7 ¥, IR el & |, 39 e &1 aa+1 o St & 1S Aienifs o1 dgt oref aren
T

181 I & SRel 1 AT A1eY

31 Tt &, A € 39ehT e g

HTGHT BIAT ¢ T 81 ITch A1 HaER fohdT ST 8

Question ID : 630680836445

Option 11D : 6306803276523
Option 2 ID : 6306803276522
Option 31D : 6306803276525
Option 4 ID : 6306803276524
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A gl

I THg A @1 afH wgar § st weifaa g ) iB=E v o wee s gier
feer w Rt SR oTEt @ S T g1 I

§ Rt § it 3ot off el Tepfar Y ST 7 STy e A 1 mE gy e &
§ ARt & it it oft YRdTg Gehfar 7 a1g T F T HegE od §

€ IR & St 31t +ff R Tepfa Y aTg T # 1 Hegy avd &

F ot R &1 € St STeT ot VR TPt aht TG 7@ # 714 Ag gy hd &

Question ID : 630680836359

Option 11D : 6306803276197
Option 2 ID : 6306803276195
Option 31D : 6306803276196
Option 4 ID : 6306803276194

Heal # A T 91 fRrehea gah G ara a9 & fAg aremien &t @@ S d
ra?

5 &5 h1 v Fed &

1w & aga gfeenet gt & saforg

it 99T AT SR

YgeR AR & S Y

Question ID : 630680850254

Option 11D : 6306803330205
Option 2 ID : 6306803330207
Option 3 1D : 6306803330208
Option 4 ID : 6306803330206

Heal # A A 91 fRehed gah U ara a9 & fAg aremien ot ad s d
r8?

M higd R Thd &

T g1 & 3R ey 3=

| & Heg T & foeT adea

MR Al 2Tid e 3R

\

Question ID : 630680850251

Option 11D : 6306803330195
Option 2 ID : 6306803330194
Option 3 1D : 6306803330193
Option 4 1D : 6306803330196
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IS BT

SR

Question ID : 630680850306

Option 11D : 6306803330398
Option 2 ID : 6306803330397
Option 3 ID : 6306803330399
Option 4 1D : 6306803330400

A ¥, IR el & @, 39 98l faerea &1 99+ 2 St ek == & fog Tl oromefs
T gt
T vTsal @ R fraa @

i

Question ID : 630680850289

Option 11D : 6306803330329
Option 2 ID : 6306803330332
Option 3 1D : 6306803330330
Option 4 1D : 6306803330331

¥ ¥, IR frepeal & |, 39 91 R o1 999 &2 Wil Ry 71 erqede & fog sifaw
Aahea g

forg fora= srmasaer €, A @oft &) uar 21 et oft man & o6 a9 ) Sfte= @1 3= awsm
F-ufafem gt Y siungy werd gt 1 I

= fe-ufafes st ¥ ¥RUT shedt o1 2T &
e fA-ufafee e gieft o <t 2

e fe-ufafes Ster U eRor el ST 38t g1
T feq-ufafe faenerel =0 ¢RuT et ST 28T &1

Question ID : 630680850237

Option 11D : 6306803330139
Option 2 1D : 6306803330137
Option 3 ID : 6306803330138
Option 4 1D : 6306803330140
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Question ID : 630680850288

Option 11D : 6306803330325
Option 2 ID : 6306803330326
Option 3 1D : 6306803330328
Option 4 1D : 6306803330327

I H, I aTieT i gAY wd Fo it &1 afy s werdt 7 & at '
gTa hifSigl

“ 1Y g< deh gx Tt &Rt e/ & 3R Ug SuTeTaR St d9ryEl ofR AR-uafeRor
nfafafrat Y geuwin @ aRoms g1

3T Sh1RUT ShTth! < deh &1 gt &l I
nfafafda st geuaT @ uRomT 1
L

Question ID : 630680850244

Option 11D : 6306803330165
Option 2 ID : 6306803330166
Option 3 1D : 6306803330167
Option 4 1D : 6306803330168

A ¥, 9rR RQereal 7 9, 39 RAerea &1 9g= &2 5t Ry 71g arery & erq gl aren

R & ST AT 31T el o 1T, T a1 Y 2faet 7w G sAR iR ugg-ufaiai &
¢ frarfeai & fog gy awgu &1

R

el

Question ID : 630680850323

Option 11D : 6306803330466
Option 2 ID : 6306803330468
Option 3 1D : 6306803330465
Option 4 1D : 6306803330467
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Question ID : 630680850299

Option 11D : 6306803330371
Option 2 ID : 6306803330372
Option 3 ID : 6306803330370
Option 4 1D : 6306803330369

1 H, I aTerier @l gAY e go sixifgat &1 afy e werdt 7 & at '
g1 ATl

‘oIS Us @ & agi i gar A & g@/ FeTehaT AT STafh S H T | gati R forr
aiferd ®u @ Siidd 3R A &g REar gl

RAE8

ar T STafeh 3eh A T | gl Uk o gan wIe
T &Y @ Shdd 3R B e a8l

T 781 hig U el § a8 &l g H €1 g@

Question ID : 630680850245

Option 11D : 6306803330172
Option 2 ID : 6306803330170
Option 3 ID : 6306803330171
Option 4 1D : 6306803330169

A ¥, IR el & @, 39 98l fAeeu &1 99 2 St s T & e 98t aRes e
hHAfr____ qeh el TS|

Question ID : 630680850287

Option 11D : 6306803330323
Option 2 ID : 6306803330324
Option 3 ID : 6306803330321
Option 4 1D : 6306803330322
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Question ID : 630680836415
Option 1 ID : 6306803276402
Option 2 ID : 6306803276403
Option 31D : 6306803276404
Option 4 ID : 6306803276405

7 ¥, IR el & |, 39 e &1 9a=1 o it @ 1S qgrer o1 |t oref arer Reea

dier

AT

S

HEI

TRI9T gHT
Question ID : 630680850304
Option 1 ID : 6306803330392
Option 2 ID : 6306803330389
Option 31D : 6306803330390
Option 4 ID : 6306803330391

w1 H, I areritr @t gy e o sixifgat & aft s mereh a8t & &t ‘Wi

T s

o & ot o1 uTa € Aehar 8/ STafd & IR $9 WR gWRIT | ohTe UTaT STTET §

/ B 3@ aret vl & SfiaeT R Teh g1 AT g=ar &1

3 91¢ # §© f&1 ol oh1g UTAT 61 HehdlT &

TRt <A1 eh StieH OR Yeh SRT 79 Ul &

R 8

o IR I W I H h1g, U ST 6 Fad 39 &
Question ID : 630680850246
Option 11D : 6306803330173
Option 2 ID : 6306803330175
Option 31D : 6306803330176
Option 4 ID : 6306803330174
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areft

Question ID : 630680850319

Option 1 1D : 6306803330452
Option 2 ID : 6306803330450
Option 3 ID : 6306803330451
Option 4 1D : 6306803330449

1di Language and Comprehension 2

A ¥, R fRAeeal 7 Q, 39 Qe o1 gg= &2 5t Ry 71¢ arery & erd = aren

7 g URifOes Fgrfal iR afEt & s gt g€ 5 afEt & arem & arnfSe
i ST R oY &g et 81

T

%

B

Question ID : 630680836460

Option 11D : 6306803276584
Option 2 ID : 6306803276582
Option 31D : 6306803276585
Option 4 ID : 6306803276583

7 ¥, 9R fRAereal # @, 39 e &1 wa4 &2 Sit 27 71 21eg & s@awreff =u arer
21

Question ID : 630680850338

Option 1 1D : 6306803330525
Option 2 ID : 6306803330526
Option 31D : 6306803330527
Option 4 1D : 6306803330528
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Question ID : 630680850352

Option 11D : 6306803330582
Option 2 ID : 6306803330581
Option 3 ID : 6306803330583
Option 4 1D : 6306803330584

7 ¥, 9R RAereal 7 9, 39 RAeea &1 wg= &2 51t R 71 2reg & yafaar ereg &1 9&@t
[

Question ID : 630680836492

Option 1 ID : 6306803276711
Option 2 ID : 6306803276713
Option 31D : 6306803276712
Option 4 ID : 6306803276710
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